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What is sharing; grabbing — BUIT PRI INR

Overview

The x 2 explains that the expression P17 0°173737 does not mean that the 0175
would exchange their portion of the 21977 or? for a portion of other o°w7p (which
would refute the view of *2aR), but rather 2°p?11 means that they would grab more
than their share. 01N explains the meaning of this answer.
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The X723 means to say that in truth there is no Y1 197 (we cannot exchange the
portions of different 0>w7p), and when the Xn>>12 states 2921, it means his portion

which was allotted to him (which was the size of a 919 [bean]) -
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So when he only received a small portion (a 719) he would grab his friend’s
portion and eat it as well -
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As it states in the end of this Xn>12, it happened by one 372 that he grabbed his
friend’s portion (and they called him [derisively] 1¥a1 12).

mooIn asks:
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And if you will say, since it was customary for the 0°172 to grab the o°197 an®

(from their friends), why did they call that individual a y2%1 more than the other
0°1712, who also grabbed?!

N150IN answers:
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And one can say that this individual grabbed the portion of another 772 who was

a 17293 like him -
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! See “Thinking it over’.

2 See Py 1"7 >"wN that after the death of p>7x77 Pynw there was a ‘curse’ in the 01971 on and the portion of each 772
came out to be the size of a ?10. The 1y1¥ (the modest and refined 0°175) would withdraw and not eat their portion
(since it was so small) but the 2°37273 (the gluttonous 2°1715) would not only eat their portion but would grab the portions
of others as well.

3 The X»3 states 2’90 — 0°p7 1 *X»; indicating that (all) the 217373 were 2001,

4 See > 71"7>"wN that a X1 means a jon1 one who takes something by force.

3 The 17> from whom he grabbed did not forfeit his portion; he wanted his portion (and another’s as well).
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However the other 0°175 would not grab from the other 0217373, but rather they

would only grab from the portion of the 1¥1x who would retract their hands®
and not take their allotted share.

Summary
The 2°17373 would ‘grab’ the portion of the 1v11¥, however the 71X 13, grabbed from

another 77273,

Thinking it over

According to moon that 1211 means that they divided the %1971 on% equally, why is
it necessary for the X713 to say °5vI1 2°P2 10 *Ri, we should just answer that they did
not exchange the o°1977 an with other 2°w7p, they merely divided the o977 an>?!’

6 The Py were 07> 1w, they forfeited their portion, therefore it was not (that) disgraceful if the o°17313 grabbed
their portion.
7 See (1"7¥) in nwn nbma.
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